= =
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No. 1
I -H#E R g = RETHE| HEM k=
<EBUEIT >
T A7)l MEERR 40+ 41 = 8.1 8.1 8
SRR U BT t=15cmLLF m
28.30 28.3 28
SRR RIS A INRAR m2
IR, HWWIEIA 28.3 % 005= 1.4 1.4 1
BE INRAE 28 5kmLA T m3
1.4 1.4 1
non g TFAIZ7IL bR m3
0.331 / 200 * 400 / 25 = 0.3 0.3 0.3
BEmMEYCbHL HEEY AhET m3
91— R 0.3 0.3 0.3
ST RSy H Bk (2t AH 17, 4km m3
0.3 0.3 0.3
non g oy )— kiR m3
<tI> TEWTER &0 s =
64.50 + 1.3+ 0.3 - 0.8 = 65230 65.3 65
RiEY INRAE m3
TEMTER s =
37.80 +  0.50 - 0.7 = 37.60 37.6 38
HEREL INRAE m3
T8 37.60 37.6 38
B R~ REE~HG m3
T8 65.30 *  0.90- 37.6 = 21.2 21.2 21
B i~ 05015 m3
21.20 21.2 21
st %) T m3




No. 2
I7E-#E R g = REtHE| B k=
<t@E&EYHI>
1.00 1.0 1
EHREET H3. 842~4. 223 =
4.0 4.0 4
EMTKIR T 300%300 m
<fHEEIRT>
12k 100mm 15.20 - 0.52 % 2503 +( 0.35 + 0.35 )% 1.497 = 14.90 14.9 14.9
PRAE PIEAERE (M-30) m2
HEME 126 - 1.22 * 150 = 10.80 10.8 10.8
REEREIE # B4 (M=-30) F9t=3cm m2
HiE - BES 1. dnRkiE 27.7 - 052 * 4.00 = 25.62 25.6 25.6
== BAZHRIEEAS (13) t=5cm m2
<{REET>
( 1.50% 200+ 7.00)% 1.00= 10.00 10.0 10
TDS5HUT m2
1.00 1.0 1
Ry T - BE [E:l3
(FRFHEEK) 7.00 7.0 7

Ry FiEEE 0LL_EA40m3.~ hk i B




%31 == g : 3
_ No
Rz HEL
DU XfEWE | v m | FYH | 2 B | HE|FEFYH| L B|wHBaE|FEYH| L Wrm | F ¥ | i
Wi Br T W BT T
No.0 0.00 0.00
0.00
No.0 11.20 5.60 6.4 6.40 3.20 3.7
1.15 1.15
No.0 11.20 11.20 20.7 6.40 6.40 11.8
3.00 1.85
No.0 11.00 11.10 22.2 6.70 6.55 13.1
5.00 2.00
No.0 11.00 11.00 8.3 6.70 6.70 5.0
5.75 0.75
No.0 0.00 5.50 6.9 0.00 3.35 4.2
7.00 1.25
7.0 64.5 37.8

op




o = it = B
Fir B L EER#E(10cm) A [EZEEIF(3cm) =RIE
B o= X [ R Bt 8 15 B |m®& & Bl E B |EBE|EY B =] 15 &
B B e 8 B
No.0 4.00 0.50 3.10 3.60
0.00
No.0 4.00 4.00 4.6 2.45 1.48 1.7 1.30 2.20 25 3.75 3.68 42
1.15 1.15
No.0 4.00 4.00 7.4 2.50 248 46 1.50 1.40 2.6 4.00 3.88 7.2
3.00 1.85
No.0 410 4.05 8.1 2.55 2.53 5.1 1.55 1.53 3.1 410 4.05 8.1
5.00 2.00
No.0 410 410 3.1 2.55 2.55 1.9 1.55 1.55 1.2 410 410 3.1
5.75 0.75
No.0 410 410 5.1 0.50 1.53 1.9 3.60 2.58 3.2 410 410 5.1
7.00 1.25
7.0 283 15.2 12.6 27.7
& i




BEhHAEERET

H3.844~4.205 1YY
I i@ = = B = E=
T S=DZI S
18-8-40BB |(( 0400 + 1430 )/ 2000 * 3433 + 1.830 * 0600 )*( 6.800
+ 4380 )/ 2000 = 23.70
RBEKEHREO
23 ( 0400 + 0412 )/ 2,000 * 0395 * 0.300 = 0.05
it 2370 - 005 = 2365 m3 23.7
B ( 4033 + 3433 * 1044 + 0.600 )*( 6.800 + 4.380 )/ 2.000
= 4593
BEKEREO
23 ( 0300 + 0300 * 1.044 )* 0300 = 0.18
HEEKERMZEO|( 0400 + 0490 )/ 2000 * 0.300 * 2000 = 0.27
it 4593 - 018 + 027 = 46.02 m2 46.0
KikEE
Vu ¢ 50 ( 6.800 + 4740 )/ 2000 * 3433 * 1044 / 200
= 11.00
1100 * 092 = 1012 m 10.1
0% H LRG LE#F
¢ 50 11.00 & 11.0
FEEKERT
& % F A R A1 ;B W300 10m L)
I i@ = = B = E=
B R RN ALE
W300 10.00 / 1= 10.00 & 10.00
B o)—k
18-8-40BB 062 * 015 * 1000 = 093 m3 0.93
LB 015 * 200 * 1000 = 3.00 m2 3.00
B
SL—Fy 10.00 / 1= 10.00 54 10.00




